ChallengesMrs Trevis is thinking of an even number that is greater than 3 and less than 15. What are all the possibilities it could be?

___________________________________________________________________________________


Mr Kelly thinks Mrs Trevis’ could be thinking of any of the following numbers:

4, 6, 8, 13, 14.

Can you spot Mr Kelly’s mistake and explain why he is wrong?

______________________________________________________________________________________________________________________________________________________________________

















Mrs McGurk has 15 chocolate bars that she wants to share equally with Mrs Marriner. What is the problem?


















______________________________________________________________________________________________________________________________________________________________________


